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When was S. T. Coleridge’s Biographia Literaria published?

A) 1800 B) 1802 C) 1815 D) 1817
Vittoria Corombona is a character in ------- .

A) The Spanish Tragedy B)The Duchess of Malfi

C) The White Devil D) The Changeling

Gerard Manley Hopkins is a/an --------- poet.

A) Early 19" century British B) Late 19™ century British

C) Early 20" century British D) Early 20" century American

Complete the title of the Third Part of Gulliver’s Travels: A Voyage to Laputa,

Balnibarbi, Luggnagg, Glubbdubdrib and ----.

A) Japan B) China C) India D) Brobdingnag
Who has written Notes Towards the Definition of Culture?

A) Matthew Arnold B) T. S. Eliot

C) F. R. Leavis D) Lionel Trilling

Which of the following is a play by Samuel Beckett?

A) The Room B) The Lesson C) The Chairs D) Not I
“How can we know the dancer from the dance?” is the last line of ------- .
A) “The Hollow Men” B) “Among School Children”
C) “A Prayer for My Daughter” D) “Lapis Lazuli”

Who is the lover in Lady Chatterley’s Lover?

A) Stephen Mellors B) John Mellors

C) Oliver Mellors D) Michael Mellors

Who wrote Culture and Society?

A) Terry Eagleton B) F. R. Leavis

C) Claude Levi-Strauss D) Raymond Williams
Which of the following is not by Amitav Ghosh?

A) Sea of Poppies B) River of Smoke

C) Flood of Fire D) River of Fire

Who has written Sexual/Textual Politics: Feminist Literary Theory?

A) Kate Millet B) Simone de Beauvoir

C) Elaine Showalter D) Toril Moi

Most of Girish Karnad’s plays were originally written in ------ language.

A) Malayalam B) Konkani C) Kannada D) Marathi
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Who is associated with Systemic Functional Grammar?

A) Ferdinand de Saussure B) Noam Chomsky

C) Frank Palmer D) Michael Halliday
Slaughterhouse-Five is a novel written by------- .

A) Saul Bellow B) Kurt Vonnegut

C) Joseph Heller D) Philip Roth

Jorge Luis Borges belongs to ----- .

A) Argentina B) Colombia C) Chile D) Peru

Which Shakespearean play contains the lines, “If it be now, ‘tis not to come; if it be not
to come, it will be now; if it be not now, yet it will come; the readiness is all”?

A) King Lear B) Hamlet C) Macbeth D) Othello

In 1982, who came out with Cultural Industries: A Challenge for the Future of Culture?
A) Theodor Adorno B) Max Horkheimer

C) UNESCO D) Raymond Williams

The letter ‘L’ in MLA stands for ------ .

A) Language B) Literature C) Library D) Letters
Complete the title of this Salman Rushdie work: Two Years Eight Months and --------
Nights

A) Twenty-Eight B) Twenty-Nine

C) Thirty D) Thirty-One

Of the following, who is associated with the concept of vakrokati?

A) Bharat Muni B) Abhinavagupta

C) Anand Vardhana D) Kuntaka

Who has written Hag-Seed: The Tempest Retold?

A) Chinua Achebe B) Margaret Atwood

C) Aime Cesaire D) Leopold Senghor

Who has written a novel titled Doctor Faustus?

A) Christopher Marlowe B) Goethe

C) D H Lawrence D) Thomas Mann

Which country did Pablo Neruda belong to?

A) Chile B) Brazil C) Mexico D) Peru

Which one of the following characters does not figure in Samuel Beckett’s Endgame?

A) Nagg B) Nell C) Hamm D) Hann
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. Who wrote “The Country without a Post Office”?

A) Faiz Ahmad Faiz B) Arudhati Roy

C) Agha Shahid Ali D) W. H. Auden

Who is the author of Never Let Me Go, the dystopian science fiction novel?
A) Issac Asimov B) Ursula Le Guin

C) Ray Bradbury D) Kazuo Ishiguro

Who wrote “What Is an Author”?

A) Roland Barthes B) Raymond Williams

C) Michel Foucault D) Judith Butler

Georges Poulet is closest to ------------ criticism.

A) Marxist B) Phenomenological

C) Archetypal D) Ecological

Who wrote Thirdspace: Journeys to Los Angeles and Other Real-and-Imagined Places?
A) Edward Soja B) Homi K Bhabha

C) Henri Lefebvre D) Mark Twain

Which of the following is not a play by Tennessee Williams?

A) Cat on a Hot Tin Roof B) The Glass Menagerie

C) The Rose Tatoo D) A Delicate Balance

The word ‘interpellation’ is associated with ------- .

A) Karl Marx B) Antonio Gramsci

C) Lucien Goldmann D) Louis Althusser

Name the character described as ‘A Pure Woman’ by her creator.

A) Becky Sharp B) Tess of the D’ Urbervilles
C) Mrs. Dalloway D) Lady Chatterley

Who has written essays figuring Roger de Coverley?

A) Joseph Addison B) Leigh Hunt

C) William Hazlitt D) Thomas Carlyle

What does the word ‘siecle’ in ‘fin de siecle’ mean?

A) Decade B) Age C) Century D) Period
Which poem contains the lines given below?

“Time past and time future

What might have been and what has been
Point to one end, which is always present.”
A) “The Hollow Men”

B) “Ash Wednesday”

C) “Burnt Norton”
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D) Kamayani (English Translation by Jaikishan Das Sadani)

Who is a Caribbean writer?

A) Kamau Brathwaite B) Ayi Kwei Armah

C) Buchi Emecheta D) Nuruddin Farah

Which novel opens with the sentence, “It was a bright cold day in April, and the clocks

were striking thirteen?

A) Animal Farm B) Brave New World
C) 1984 D) Clockwork Orange
Which ode concludes with the following lines:

To me the meanest flower that blows can give
Thoughts that do often lie too deep for tears.

A) “Ode to Psyche” B) “Ode To Skylark”

C) “Ode on Intimations ...” D) “Ode to the West Wind”

Which poet has written the line, “In the beginning was Scream-----“?

A) W B Yeats B) Ted Hughes

C) Sylvia Plath D) T S Eliot

Complete the title of the Caryl Churchill play: Top ----

A) Girls B) Women C) Doll D) Dolls
Ngugi wa Thiong’o, who initially wrote in English, later started writing in ----.
A) Swahili B) Gikuyu C) Kirundi D) Yoruba
Who wrote a literary work that is sub-titled “The Modern Prometheus™?

A) Mary Shelley B) P. B. Shelley

C) Samuel Butler D) Samuel Beckett

Of the following, which twentieth century French thinker has focused on Ethics?
A) Jean Paul Sartre B) Emmanuel Levinas

C) Jean Baudrillard D) Pierre Bourdieu

Who, along with Harold Fromm, edited The Ecocriticism Reader: Landmarks in Literary

Ecology?

A) Joseph Meeker B) Lawrence Buell
C) Cheryll Glotfelty D) Erich Fromm
Philip K. Dick’s The Man in the High Castle is an example of ----- .
A) Alternate/alternative history B) Socialist realism
C) Hypertext D) Queer fiction

Fill in the blank in the William Blake quote:
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To see a World in a Grain of Sand
And a Heaven in a Wild Flower
Hold ---- in the palm of your hand
And Eternity in an hour

A) Time B) Destiny C) Infinity D) Immortality
Which of the following was written by Mulk Raj Anand?

A) Two Leaves and a Bud B) A Bend in the Ganges

C) In Custody D) The Continent of Circe

Who is associated with the idea of gender performativity?

A) Elaine Showalter B) Simone de Beauvoir

C) Chandra Mohan Talpady D) Judith Butler

The Morphology of the Folktale was written by-----.

A) Tzevtan Todorov B) Gerard Genette
C) Vladimir Propp D) A J Greimas
In Memoriam was written as an elegy on

A) Edward King B) Arthur Hallam
C) John Keats D) A H Clough

X-X-X
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1. Le Contrat social est écrit par :
A) Sartre B) Diderot C) Descartes D) Rousseau

2. Le Palme d’or est attribué chaque année a la meilleure ceuvre :
A) Littéraire B) Musicale C) Architecturale D) Cinématographique

3. L’Esprit des lois est écrit par :
A) Montesquieu B) Montaigne C) Voltaire D) Rousseau.

4. Quelle ville francaise est surnommée « la Ville de lumieres « »?
A) Marseille B) Paris C) Lyon D) Toulouse

5. Michel Tremblay est un écrivain francophone d’origine :
A) Suisse B) Belgique C) Québécoise D) Tunisien

6. C’est un chanteur d’origine Suisse:
A) Léo Ferré B) Jacques Brel C) Michel Sardou D) Boris Vian

7. C’est Du Bellay qui a donné:
A) Une apologie de la poésie
B) La défense et illustration de la langue francaise
C) Les défis devant la langue frangaise
D) Un discours de la méthode

8. Entre la Renaissance et le Classicisme vient:
A) Le Symbolisme  B) Le Réalisme C) Le Baroque D) Le Dadaisme

9. Les Classicistes étaient contre le culte :
A) De la clarté B) Du moi C) De I'unité D) De la discipline

10. Qui était le premier a utiliser le terme « lumiéres « pour designer les philosophes
progressistes ?

A) Voltaire B) Diderot C) Montesquieu D) Rousseau
11. Le vrai nom de Jules Romains est :

A) Francgois-Marie Arouet B) Jean-Baptiste Poquelin

C) Henri Beyle D) Louis Farigoule
12. “He is on the committee ¢ se traduit comme:

A) Il est membre dans le comité B) 1l est dans le comité

C) 11 fait partie du comité D) Il est sur le comité

13. Le systeme phonétique francais comporte:
A) 33 sons B) 36 sons C) 26 sons D) 32 sons
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Complétez le proverbe * une hirondelle ne fait pas...”:

A) L’été

Chassez l’intrus :
A) Haiti

Chassez lintrus :
A) Sarkozy

Chassez l’intrus :
A) Phonologie

Chassez lintrus :
A) Marat

Chassez I’intrus (qui n’est pas Prix Nobel) :
A) André Malraux

La ville de Bordeaux se trouve au bord de :

A) La Loire

B) L’automne

B) La Réunion

B) De Gaulle

B) Phonétique

B) Robespierre

B) André Gide

B) La Garonne

L’approche communicative est axée sur :

A) L’apprenant

C) Les documents oraux

C) L’hiver

C) La Guadeloupe

C) Mitterrand

C) Morphologie

C) Danton

C) Claude Simon

C) La Seine

B) L’expression orale
D) La situation réelle

« Manger un morceau sur le pouce » veut dire :
A) ne pas manger du tout
C) manger debout et sans assiette

Le roi associé ala Renaissance:

A) Francois ler

B) Louis XIV

D) Le printemps

D) La Martinique

D) Richelieu

D) Transposition

D) Marot

D) Albert Camus

D)Le Rhone

B) ne rien laisser sur le plat
D) manger assis et sans assiette

C) Louis XVI

Une méthode qui ne suit pas du tout I’approche actionnelle est:
B) Version originale C) Connexion

A) Alter Ego+

Qui est le co-fondateur du mouvement “Négritude” ?
C) Edouard Glissant D) Gisele Pinceau

A) Aimé Césaire

La sémantique étudie :
A) les sens des mots

B) René Depestre

C) les figures de style

La sémiotique étudie :
A) les rapports entre la langue et la société

B) les sons des mots

D) Charlemagne

D) Dondon

D) la dérivation d’une langue
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B) les flexions et la forme des mots
C) les systemes de signe dans une culture
D) la langue comme 1’expression du génie d’une race

Un exemple d’une consonne bilabiale du francais est :

A/ B)/m/ C) I/ D)/v/
Saussure a fait une distinction nette entre :

A) La compétence et la langue B) La langage et la parole

C) La performance et la parole D) La langue et la parole
Lequel de ces linguistes a aussi étudie le sanscrit :

A) Martinet B) Jakobson C) Saussure D) Chomsky
Le drapeau tricolore était adopté en :

A) 1848 B) 1845 C) 1789 D) 1872
Le Président actuel de la France appartient au parti politique :

A) UDF B)PCF C) REM D)RPR
La France abandonna sa monnaie en :

A) 2000 B) 1999 C) 2002 D) 1992
On fabrique I’Airbus a

A) Marseille B) Lyon C) Deauville D) Toulouse
Lequel n’est pas un fromage francais ?

A) Camembert B) Brie C) La vache quirit D) Roquefort
La premiere femme admise a ’académie francaise est :

A) Marguerite Duras B) Marguerite Yourcenar

C) Marguerite Durand D) Francoise Giroud

Chassez ’intrus :
A) Coco Chanel B) Christian Dior C) Agnes Varda D) Yves Saint Laurent

Chassez ’intrus :

A) Stirement B) Sans doute C) Absolument D) tout a fait
Noél au balcon, Paques au...

A) Tison B) Bison C) Bidon D) Triton
Que signifie I’expression : « Elle est mal fagotée. » ?

A) Elle a de la fievre B) Elle n’est pas a I’aise

C) Elle a mal a la tete D) Elle est mal habillée

La phonétique étudie les sons :
A) Du point de vue acoustique



B) Des points de vue acoustique, physiologique et perceptif
C) Du point de vue du signifiant
D) Du point de vue articulatoire

42. Le mot « définition « a combien de syllabes ?

A)2 B)4 O3 D)5
43. La Pléiade veut dire:

A) Sept mouvements B) Sept planetes

C) Sept tendances D) Sept poetes

44.” He was like a cat on a hot tin roof ‘“‘se traduit comme:
A) Il était comme un chat sur un toit chaud
B) 11 était sur des charbons ardents
C) 1l était énervé sur les charbons
D) I était comme un fou sur le toit chauffé

45. Chassez ’intrus:

A) Le Louvre B) Le Centre Pompidou
C) Galéries Lafayette D)Musée d’Orsay
46. Traduire “He ran upstairs » comme « Il est monté en courant » est un cas de:
A) Chassé-croisé B) Equivalence
C) Etoffement D) Adaptation
47. Laquelle n’est pas une piece de théiatre de Moliere?
A) Phédre B) L’ Avare
C) L’Ecole des femmes D) Tartuffe

48. Trouvez le synonyme d’un « cordon bleu »:
A) un garcon B) un chef C) un patron D) un directeur

49 Francois Truffaut est un:
A) Cinéaste B) Grammairien C) Chanteur D) Littéraire

50. Une activité d’apprentissage qui est guidée par des regles de jeu et pratiquée pour le
plaisir s’appelle:
A) Une activité de motivation B) Une activité ludique
C) Une activité agréable D) Une activité de stimulation

X-X-X
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(C) Stv= FHTE (D) THEHTT =T
46 TAIATE Hiaw T8, T TN T 4|
S T2 AL, ST 2 99 |
(A) wfqwT (B) fagmd
(C)T= ) EBLEIEEER
47 At FT FerATaT 7 o o 87
(A) TITAATR G EEEIE
(C) weramft (D)F=Ta T

48 g ¥\ T ST, S Fag 7 = A
AT g/ e, AR a1 il 100



-XIET oo vatead g2
(A) TTHTA= (B) T8
(C) FT (D) T

49 Tt THSAT AT AHFHAAT, T 1 % a2 &,
Fae TaqT O {3 (A7 7 27 & T T 2l

(A) AT LT FHT (B) gfEem ag=

(C) 7wz ot (D) wrrerfRiE Aot
50 ¥ 9H grar g e Tods arot |

HETHTT 91T 2 af<r e =i &1 272

(A) gHET AT (B) Bretr=

(C) AT (D) TSI ATET R



Punjabi

“GUTas W39 It §99 IR feeuds Uat yIiat € €F AT & 9T Jfde
J& far Iat fed AN &% A9U dYS @78 Hg 4 WTUS gt I fegrar a7

=c¢iagdr adv I& |7 fog gg& faner 97

(A) 9@ a1y 3=t (B) o3 fiw fars
(C) #9d IS (D) 3. yH ya™ fiw

I @ ‘Ha 3 fags’ faus feves % Agfus J97

(A) eddtasT @r AfAGT (B) feded Ra@<Hdl
(C) MBIHST AGHS (D) wEde @i d

TET I3 M3 miag 33 I fefams feg fan o7& gy Tue 957
(A) wee fefamrs (B) gJutzdt femmage
(C) uat fefarns (D) g fefarrs

‘yarad! T fefamirs’ g fefarns € faus Ags &8 Afen Ater 97
(A) UJdT AdS (B) HIHST ATS

(C) HIIEPA™ ATS (D) TJHIH ATS

IH &% FYfU3 ‘U=aW 89’ d[F €7 39673 A< J°7
(A) 9J5dl gat (B) WTéE IIUS

(C) T&TIT (D) WdHTg<

‘FIBHI WS T HBI &1 BJew [a9x Maew! f[93d &7 dw J7
(A) JrIH gBT (B) IdtIns



10.

11.

(C) €. 998w (D) BT IEIHS
‘gt fefarmms w3 At draat yasd UAmdt © fags feves <t
JI&T I7?

(A) 3. qdr fiw (B) 37.Jddlaz i
(C) 3. dfdred fiwr wirg (D) 3.6 ut. =fAame

WIS IRNE ETaT 9fe3s fAUTs e at s 37

(A) 3t Augerfe (B) wifgsw

(C) =dda3t (D) anfAuz

foggs Sum & mdt € faos faw § »rust yAsa Uarg €t Saararet’
feg ufgst =9 AroneE fenrer?

(A) B = figar Afggt (B) wou® &t d1a

(C) TIWHE AH IS (D) d™EdU™d €T YdS I3
BIUTT § ‘B =€ Jfde =@ UaE ©F fauzT feves 97

(A) ¥f<ed Afamrast (B) Hfdeq fiw gur=

(C) #fdres fiw 59 (D) 3. 3fggrs fiw
‘fes & 98 farest, I3t 98 at

187 37 T HTIE, 187 I BHF gt 1’

saurgr feu fev fan gu == Afen Ater 97
(A) BT (B) MUHIIS

(C) & =fard (D) MBIt



12.

13.

14.

15.

16.

17.

‘Wt faos fega v Squraret arfe gu J7
(A) YTt (B) Usd9

(C) HBI& (D) dar3T

‘Wr3T Jigat & yar fagt feat feg et 97

(A) A fast’g (B) BgSrefest’g
(C) WUt edad '3 (D) &Jfant feg

fewma v forfaezs G99 Aogg feg »iaa™ =& are A7 8 € A3dT ASUS
Itz & 4t afde g87?

-~

(A) TmdT (B) fA=st

(C) &€ uddrr (D) HJTIT

‘yggee’ T AasUt a3 faus feees a8 mafuz 97

(A) <ISfaa AHAS (B) <t Ea@es

(C) arfesdt miea (D) WS<IT AElE

‘He%eds’ wee & HaBUt gu feg A9 3 ufost <93 faus feves & St
J7?

(A) FISHIZ TET (B) T®ed §ATHS

(C) #3&IG FraHTHt (D) TSP faASter

IH gUTTET SRR 578 fagsT Aasy HEfuz 37
(A) MASHIIIS (B) Hfe=

(C) ®M (D) M=I35



18.

19.

20.

21.

22.

fAg a8 uduar et 73t faost uduer feg g7
(A) <fed yduar (B) gt yduar

(C) H&TUIyar (D) feA®™I yguar

919 Jg wrfoy fee fauz gig &t A9 3' €U 9T ATHE 957

(A) TG IHEH (B) T MIAS
(C) TG &EHE= (D) JIg MHIE™
“g 799 3H ufg maeTrll

16 fiz 7g 34 afmir”

faagt =t bt Azat aa7?
(A) #AyHt ATfo" (B) dlg3& AfgsT
(C) s Sn3fs (D) FuM&t Arfow
“IdT WAt HAY 3T wizT anT N

&S dfed A% Idar anT i’

93 TS99 Eht AZIT I&°

(A) JIg MIAS €< (B) a3 If<em™

(C) 9IZTHld (D) g Jif¥e fin

graget St femmfun yerstt e faasT g fefsoma 39 3 mat 97
(A) e y=TaY, ot yETEl, i AeTEt yETat

(B) fsausT y=mat, yHag y=r&t, Afgd yemst



23.

24.

25.

26.

27.

(C) wfgw y=T8t, gret y=rat, i Agret yerat
(D) T yeTat, Afod Y8, fsansT y=rst
ITET HaT fig 78T ASHATYT @ 28T WU ot 37

(A) gfenrgre 8T ASHATT

(B) STe gide™H €t =9 fams I35T=Ht
(C) YT <t gaH™sT

(D) UM AH™9aT I[F

‘HUTTBT U'S : AIHAT®T f938° YRS €7 39&9d dS J7

(A) 3T7.37<3 fiw fars (B) 37.3d8d fAwW =g
(C) 3. HAdrEg i (D) 37.JI99ds AW

A=t gt ‘vt Jed’ faus gt fiens s Agfas /?

(A) fomst (B) &amg<t
(C) FaIT=get (D) aredt

faa= gt A<t €t H3dT 957
(A) Td€ =dld (B) &M =T
(C) ImH (D) IS HIBST IIFAT
e fiw e ‘Ferenr fest faost samet a5 mafuz 37



28.

29.

30.

31.

(A) HeT W 997Ed € HII%T &7%
(B) 1857 © fewdg &
(C) fAYT &t wiaed &%

(D) wfore AT WEeTRt 578

. Hos i & fagost =9 <t gaaT 13t I9°

EN

(A) f3&arsT &t =9 (B) 91 ATfag od &t =19

(C) getfretdted (D) 9<T gd™Ed ©f 979
‘fAaGer Ha’ v fawr gu< =% ufosT faaag d< 97

(A) Fa=Ts i (B) faws fiur wrfae
(C) AT AT IH (D) \eT fir

I fou =gqr feg’ miarefia magat e fagagT <gqr Agt 97
(A) 37.33a fiw 7ait, §. yisH firw, 37. gfasws fiw
(B) 3. 39e< fiw fAg, Afdeg fiw Joat, 37. w39 fiw
(C) JH& B wirgd™, JI&™ W 7, fuprmar fiwr v

(D) 4.3 fiw, 37. & w9, feae, 37. fagar fiw Ui

foHafeyzs Tgar feg guad’ & utg €3 faus™ ge Adt 37
(A) mMES-G9, fies selsq, wa e fung
(B) Wod=g, mgei3, fadl fadot emaT

(C) H™HT €T A=IdT, A9 AT MOd! JdaT, 7% &'% Jafemt



32.

33.

34.

35.

36.

(D) ¥< wed 99, A%'S3, JiddTHd MTeH
fovafeys sest fag fausT s=% f83 Aies a8 A9fuz J7
(A) ®g W (B) HHTEdT

(C) 3Irv™a Mdg (D) s3I gI3T

forafayz Taar feg ‘ame’ feur 7% fafuz fagsT <gar 97
(A) HOI379, HIH13 U39, Ifda™

(B) wg fiw gHege, a3 feereT, pufeeqs wifiz

(C) 3IU3 AW, marfey f93adTa, AIATS Ayt

(D) JI3H dIISTHT, TLHII, AT YIS

foHasfgyg /939 BudT @ YA MGHATT faaaT A At &dt 37

(A) W.H.IIAGT g<T Ha™ &7&ar Uz, a&H © UaT
(B) dfgeg fiwgu Ay w3 fAdt, sar 3 v
(C) W.Jyd fiw AT AT, Uedta

(D) &fdeg fiw ayua W3d $73, MTIH AOHS

‘“The Sister of The Spinning Wheel’ amet & fag=s a<t €t #ad+t feg
FfezT 97

(A) Y= fiw A&t (B) Y.yds fiwr
(C) gt <9 fiwr (D) 7A=3I AW &
fonsfeuz feg faoaT g At &at 37



(A) FAd< fiw gaaT Hfiea AdT™

(B) Y. ytaw fiw g ot Ut & I
(C) WH.3IIAH ot et e gar
(D) Hfdeg firw Axt JTHIE o fegaz

37. ‘feur’ @ wrarg '3 yg=THT UATET Arfagarat € fag3T =991 At 97

(A)  fsgras i 59, »HIAT3 9E8, Iad13 M
(B) H<I& 9€&, IINNH B1S(ddT, 9ans Uld

(C) wIa fiw, ygew AT, JwEld €3

(D) JJIgHH HIFEYdt, Efewd e, st auT

38. gH &% HEMU3 HEI&™™ A ¢ fausT Adt 47

(A) Ifgews fiwr IGEEARGTEL]
(B) dI99d& AW Je& au §u® ygen
(C) 9B<I Irgdit U3'® <t uast
(D) JIIHS IS grat fH 39 eF et

39. fousfsyz Jur fozq Arfaa e fausT g< Adt &at I7?

(A) gsHlg fiw Ffar ge&t @ ddr
(B) HI&HIZ et T8 g
(C) Y. ytaw fiw Ha3t

(D) WH3T yisW 39 »As AEt



40.

41.

42.

43.

44,

(A) 3IIvfAwds (B) HJIEH &fammat

(C) Hfdred grggs (D) Jggas fiw AEAT

‘A &Ted €7 J9&Id d< J7
(A) Wfde s (B) ferga HoHe
(C) MeEd® MfoAs Jur=T (D) Wl gATdt

UfaA3™at (ATt 57=% ‘g8« €12’ €7 g9&Jd oS J7

(A) THIT AT (B) H&3Hd JA& I93

(C) THPAT T HIHE (D) WMyt farst

‘T §Ir8T O dfe3T € d9& fauz ufanzsTat iAtdt o<t § AadTg &r
W e AfgeT fumr?

(A) ifoHe A8 (B) ifore weg
(C) "ewu® Y=o (D) &AM JH& ATE

fonasfeug get feg fagsT g¢ Adt sat 37

(A) BS-JIH=Tl afe =3 fiw &9, et <9 fiw, yisw fiw
)

(B) Jad3 fiw fars "3y fiw gl greeds aHydt, §. Hos fiwr

(C) as9-fewdd TIHS Heds, e3faris, Ag Ay

(D) HIA<TE! afe Jfagrs fAw, gfeeg 3<t, gJ99d& Ts<Ta<]
b b



45.

46.

47.

48.

49.

50.

“&dt ST wufad @ar € Ueretg J- fon 9us € W3t Aas foumfmr
I feg g feum ateT J fa ferer AeH #eet Arfoz € ygr= Agy dfenr
J| feg fenrfi™ A9 I U9 Yas A9 &1 feg aas famer 97

(A) A3 fiw Ay (B) 3. Jfggns i

(C) 3.3t w9 fede (D) 37. w33 fiw

s=% €t feur § ardt fem fegvus afoe =% faus™ mdea 97
(A) 3. pye< fw yrgar (B) Y. faus fiw

(C) 3. Afdred fiw ardt (D) 3T. Adrdtd fiwr

‘wray fga373t & W33 €T 19 €< Tt faust 93 y=rat 97
(A) €39 mufeasT (B) §39Hgua=E

(C) e (D) &<-HIIA=E

Uardt gus 3 Gaer f8edud’ gamt g feg f&fpur fapur Jarst Arfaa
ar fefgom faoz By v 37

(A) Vi®T SHT IHIT (B) faaz €

(C) Ufs3z ga379 fiw eyr (D) Y9&9HT @ H A&

JH® THATS< € ‘HaT ©Tfa3™s’ €7 METed < J7

(A) U mM=EIgdsT (B) JgIHH
(C) fuwrrar i Afgaret (D) AIHIS fiw wrse

et g few YA o nigefes unsqa foohit fas figsfe6” & ye sud de
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